4

THIS DRAWING 1S UNPUBLISHED.

‘ RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

REVISTONS

8

33.

DESCRIPTION

DATE

DWN

APVD

INITIAL RELEASE

[4APR20 1S

DL

cw

ECR-15-01848]

[9FEB2016

DL

cw

ECR-17-002385

I8FEB20 1T

QY

cw

ECR-21-111798

08SEP2021

WOR

cw

NOT
|

M5 SCREW,RECOMMENDED
TIGHTENING TORQUE 2.0Nm
M5#8%  #EHEH%E2 . ONm

Il

=4
HDC-HK4/0-004-M
80A 690V 8KV 3

ows(CE

!

TYPE-1:T2|
2 #M-1:T7210

ES:

TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC
RATED VOLTAGE: 690 V
RATED CURRENT: 80 A
INSULATION RESISTANCE:
RATED IMPULSE VOLTAGE:
POLLUTION DEGREE: 3
FLAMMABILITY: UL94V-0
MATING CYCLES: 500
WIRE RANGE: POWER:
CONTACT FINISH: SILVER PLAT
CONTACT TYPE: SCREW CONTACT

>=40
8 KV

| .5-16 mm?2

oMQ)

ED

(16-5 AWG)

k— 77.5 |
. %& O;;;;iﬁ A
D S * Y
g 5 68.5 - R\Ax @3.3

PANEL CUT OUT FOR

INSERTS FOR USING
WITHOUT HOODS/HOUSINGS
& Ay 3790 7B Sy 2K T LB

] e
AR
@i}ﬂiﬁ%}g L wAsH
YA = /A y gk PC
= Hrwk: 690 V
Fregk: 80 A
gl >-400M0)
TehawE: 8 KV
ERER 3
Bmsg: UL94V-0
wraH . S500x%
AX M3 SCREW, RECOMMENDED B | 5-16 mm2 (16-5 AWG)
TIGHTENING TORQUE 0.5Nm T REAE R
AX M3ge ###AHER 0. S5Nm s .
00042101-000 TE LOGO
0042101-000 TE LOGO
THIS DRAWING [S A CONTROLLED DOCUMENT. |OWN | 4APR20 1S
CHE/;\FZE \/L\/ANGAAPREOS - TE TE Connectivity
DIMENSTONS: OTHERWISE SPECIFIED: | APVD [4APR20 15 | NaME
mm XU XTANG
0 PLC 4 PRODUCT SPEC HKA/0-004-M
@E}{::::}; o1 108-137127
3 PLC +- APPLICATION SPEC
iNgtég +- . “ 477‘ 3‘7‘ 2 7 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
: ARl - [C=T2100042101000
- - CUSTOMER DRAWING SME P o Y e

1470-19 (3/13)




4

1470-19

2
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION 20 REVISIONS
<:> COPYRIGHT 20 BY - AL RIGHTS RESERVED. P LR DESCRIPTION DATE DWN | APVD
- SEE SHEET |
ALL DIMENSIONS ARE SAME AS TYPE |, NOTES:
EXCEPT THOSE DEFINED [N THIS TYPE.
BT AEAAMPEXARTH  HERTRAA | SEE SHEET
NER =
W

(3/713)

M5>S SCREW, RECOMMENDED
TIGHTENING TORQUE 2.0Nm

4X M3 SCREW,RECOMMENDED

Mg« #E#EHE? . ONm

Kﬁ@i

TIGHTENING TORQUE 0. 5Nm
AX M3ge, ##xfq%Ex 0. S5Nm

%H;)

Zéﬁ}
ST

&

LfJiifﬁ
. @ &
®, @

TYPE-2:T2100042101-001

2 A-2:72100042101-001

STAINLESS STEEL SCREW,NO LOGO
rEmaz 2L 0G0

HK4/0-004 MALE INSERT, TYPE-?
T2100042101-001 HK4/0-004-M STAINLESS STEEL SCREW,NO LOGO % E-D
HK4/0-0040%, T8@8% £ 0G0 =

B B B HK4/0-004 MALE INSERT TYPE-I

T2100042101-000 HK4/0-004-M HK 47 0-00 48 % @ |

PART NUMBER PART DESCRIPTION TYPE

£ # # P

DWN [ 4APRZ2015
THIS DRAWING IS A CONTROLLED DOCUMENT. DA\/‘D L‘

CHK
CHRIS WANG

| 4APR20 TS

=TE

TE Connectivity

DIMENSIONS: TOLERANCES UNLESS
OTHERWISE SPECIFIED: | APVD [4APR20 5 |naMe
mm XU XTANG

0 PLC . PRODUCT SPEC . .
L blc il HK4/0-004-M
3 PLC . APPLICATION SPEC
4 PLC +- SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES 4 [ 14-137127

MATERTAL FINISH WEIGHT -

A3

GC=T2100042101000

CUSTOMER DRAWING

SCALE

SHEET OF

2 REV (:



	Sheet 1
	Views
	new_view_1
	top_2
	bottom_3
	right_4
	new_view_5
	new_view_6


	Sheet 2
	Views
	new_view_14
	bottom_15
	top_16
	right_17
	new_view_18



